Prawf Tablau - Tabl 2

Gwiriad Gwiriad
1. 5x2= 13. 8+2=
2. 2x7= 14, 6+2=
3. 2x2= 15. 22+2~=
4, Mx2= 16. 4+2=
5. 2x12= 17. 10+2=
6. 1x2= 18. 16 +2=
1. 2x4= 19. 2+2=
8. 2x0-= 20. 24 +2=
9. 8x2= 21. 14+2=
10. 3x2= 22. 12+2=
11. 2x6= 23. 20+ 2=
12. 2x9-= 24, 18+2=
Fy sgor: Fy sgér y tro diwethaf:

Sut fedra i wella?

W visit twinkl.com




Prawf Tablau - Tabl 2

Gwiriad Gwiriad
1. 2x12= 13. 10+2=
2. 6x2-= 14, 6+2=
3. 2x7= 15. 12+2=
4, 2x2= 16. 8+2=
5. 2x3= 17. 22+2=
6. Mx2= 18. 16 +2=
1. 2x10= 19. 2+2=
8. 1x2= 20. 24 +2=
9. 5x2= 21. 4+2=
10. 2x4= 22. 20+ 2=
11. 9x2-= 23. 14+2=
12. 2x8= 24, 18+2=
Fy sgor: Fy sgér y tro diwethaf:

Sut fedra i wella?

W visit twinkl.com




Prawf Tablau - Tabl 2

Gwiriad Gwiriad
1. 1x2= 13. 20+ 2=
2. Mx2= 14, 6+2=
3. 5x2= 15. 2+2=
4, 2x9= 16. 18+2=
5. 2x3= 17. 22+2=
6. 2x12= 18. 10+2=
1. 2x7= 19. 4+2=
8. 2x2-= 20. 12+2=
9. Lx2= 21. 8+2=
10. 2x6= 22. 16+2=
11. 8x2= 23. 14+2=
12. 2x10 = 24, 24 +2=
Fy sgor: Fy sgér y tro diwethaf:

Sut fedra i wella?

W visit twinkl.com




Prawf Tablau - Tabl 2

Gwiriad

1. 5x2= 10
2. 2x7= 14
3. 2x2= L
4, Mx2-= 22
5. 2x12 = 24
6. 1x2= 2
7. 2x4 = 8
8. 2x0= 0
9. 8x2-= 16
10. 3x2= 6
1. 2x6= 12
12. 2x9= 18
Fy sgor:

Sut fedra i wella?

Gwiriad
13. 8+2= L
14, 6+2= 3
15. 22+2= 11
16. 4+2= 2
17. 10+2= 5
18. 16+2= 8
19. 2+2= 1
20. 24 2= 12
21. 14 +2= 7
22. 12+2= 6
23. 20+2= 10
24, 18+2= 9

Fy sgbr y tro diwethaf:

ey

visit twinkl.com




Prawf Tablau - Tabl 2

Gwiriad

1. 2x12 = 24
2. 6x2= 12
3. 2XxX7= 14
4. 2x2= L
5. 2x3= 6
6. Mx2= 22
7. 2x10 = 20
8. 1x2= 2
9. 5x2= 10
10. 2x4 = 8
1. 9x2= 18
12. 2x8= 16
Fy sgor:

Sut fedra i wella?

Gwiriad
13. 10+2= 5
14, 6+2= 3
15. 12+2= 6
16. 8§+2= 4
17. 22+2= 11
18. 16+2= 8
19. 2+2-= 1
20. 24 2= 12
21. 4+2= 2
22. 20+2= 10
23. 14+2= 7
24, 18+2= 9

Fy sgbr y tro diwethaf:

ey

visit twinkl.com




Prawf Tablau - Tabl 2

Gwiriad Gwiriad
1. 1x2= 2 13. 20+ 2= 10
2. Mx2= 22 14, 6+2= 3
3. 5x2= 10 15. 2+2= 1
4, 2x9-= 18 16. 18+2= 9
5. 2x3= 6 17. 22+ 2= 11
6. 2x12= 24 18. 10+2= 5
1. 2x7= 14 19. 4 +2= 2
8. 2x2-= 4 20. 12+2= 6
9. Lx2= 8 21. 8+2= 4
10. 2x6= 12 22. 16+2= 8
11. 8x2= 16 23. 14+2= 7
12. 2x10 = 20 24, 24 +2= 12
Fy sgor: Fy sgér y tro diwethaf:

Sut fedra i wella?

W visit twinkl.com




